2rYVESH

WorkHub 200 — mo6unbhas pabouas ctaHums ans 2-x MoHutopos10-24",
2x10 kr, VESA 75/100, HaknoHx20°, noBopoT+20°, BpaweHne 360°, BbicOoTa
240/1160 mm (cups/cTos), knasuatypa/l1K/npuHTep/kopanHa, cepebpo

10-24"
25-61cm

[vcnnei

= 10 Kr
: ... (makc)

2 KopauHa

20 Kr

(makc)

Nonka
ANs NpuHTEpa

20Kr

(makc)

it

i
\
\

[T

il
[T

MNorka
knasmaTypbl

75/100

WKH-0200-S pawamn

PEKOMEHAYETCA
2 YEJIOBEKA




TN
TV REARRARESFIONLY)

X2
X1 X1 X1 X 2
X1 X1 X1 X2 X 2
A B C D E F G
M8x65 M8 HD 003 M6x10 HD 001 HD 002 M6x10 M8 M8x50 HD 003 M6x15
x4 x4 X1 X2 X2 X2 X2 x1 X1 X1 X2
H | J K
6MM 5Mm 4Mm 3Mm
M6x25 M5x15 M4x15 M6 M5 M4 17MMm
x8 x 8 x8 x8 x8 X8 x1 x1 X1 x 1

_01_




C Topmo3zamu

Mepen ycTaHOBKOWM HaxaTb BHU3 AN
GNOKMPOBKM ABMXKEHMS

_02_



3A

190 mm (makc.) -

3MM

_03_



3B

_04_




4A

3MM

_05_



4B

_06_



SA

_07_



5B

_08_




_09_



%
M
= N

Y

_10_

N




O
AT

LT

_11_






11

_13_






15

_15_



	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 16



